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MODEL QUESTIONS

1. Correct statements among the
following is/are for aspartic acid,  

Pka of α−COOH is 1.88,

is 9.60 and − COOH in alkyl side
chain is 3.65.
1) At PH=1.0 it exist as 

2) At PH = 2.77 it exist as

3) At PH = 8, it exist as

4) All are correct statements
2. The Colorless oxide of chlorine

is
1) Cl2O 2) ClO2
3) Cl2O6 4) Cl2O7

3. Match the following
Reactants:

A) Na2SO3+HCl→
B) Pt + Aqua Regia→
C) Cu+H2SO4(Conc)→
D) C12H22O11+H2SO4(conc)→
Products:
p) SO2
q) NO
r) C
s) H2O
1) A -s; B - r, s; C - p, s; D - q, s
2) A-p, s, r; B-q, r s; C-p, s; D-p, r
3) A - p, s; B - q; C - p; D - r 
4) A - p, s; B-q, s; C - p, s; D-r, s

4. In the extraction of copper, metal
is formed in the Bessemer
converter due to reaction:  
1) Cu2S + 2Cu2O → 6Cu + SO2
2) Cu2S → 2Cu+ S
3) Fe + Cu2O → 2Cu + FeO
4) 2Cu2O → 4Cu+ O2

5. What is the formula of chocolate
coloured ppt.
1) Fe4[Fe(CN)6]
2) Cu2[Fe(CN)6] 
3) Cu2[Fe(CN)4]
4) Cu(CN)2

6. 3 methyl 3 hexanol can NOT be
prepared by 
1) CH3MgI and 3 hexanone,

followed by hydrolysis

2) C2H5MgI and 2 pentanone,
followed by hydrolysis

3) n-C3H7MgI and 2 butananone,
followed by hydrolysis

4) n-C4H9MgI and propanone,
followed by hydrolysis

7. A toy balloon originally held
1.00 g of helium gas and had a
radius of 10.0 cm. During the
night, 0.25 g of the gas effused
from the balloon. Assuming ideal
gas behavior under these
constant pressure and tempe-
rature conditions, the radius of
the balloon of the next morning
in cm is  (approximately)

8. When copper metal reacts with
dilute HNO3 to give NO as only
nitrogenous gaseous product then

equivalent weight of HNO3 is
9. The freezing point of an aqueous

solution containing 0.19 mol of
KCN in 1 kg of water was found
to be 0.706°C. On adding 0.095
mol of   Hg(CN)2 to the above
solution, the freezing point of the
solution was found to be  -
0.530°. If the complex formation
takes place according to the
following equation:

The Van't Hoff's factor for the
complex is 

10. The number of tetrahedral bond
angles (109°28') in CH2F2 is

11. Total number of isomers possible
with [Pt(NCS)2(en)2]2+ is

KEY & HINTS

1) 4; 2) 4; 3) 4; 4) 1;
5) 2; 6) 4;
7) 9;

8) 84.00;

9. 3;

kf = 1.85

0.95 −0.095n 0.95
0.53 = (1.85)(0.19 + 0.19 –
0.095n +0.095)
n = 2 

10. 0; CH2F2 has distorted
tetrahedral structure so all the
bond angles are deviated from
109°28' so number of tetrahedral
angles are zero 

11) 9;
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B ç³È„ýSÌZ° Ððl¬™èl¢… {ç³Ô¶æ²Ë çÜ…QÅ G…™èl?
Ô>™éË$

1. 16 ÎrÆý‡Ï Ñ${Ô¶æÐ]l$…ÌZ 45 Ô>™èl… Ä¶æ*íÜyŠæ
E…¨. Ä¶æ*íÜyŠæ Ô>™é°² 20 Ô>™é-°-MìS
™èlWY…^éË…sôæ B Ñ${Ô¶æÐ]l*°MìS G°² ÎrÆý‡Ï
±Æý‡$ MýSË´ëÍ?
G) 36 ¼) 30      íÜ) 24 yìl) 20

Sol: 16 ÎrÆý‡ÏÌZ 45 Ô>™èl… = (16 + x)
ÎrÆý‡ÏÌZ 20 Ô>™èl…
⇒ 45 : 20 = (16 + x) : 16

⇒ x =  20 ÎrÆý‡$Ï 
∴çÜÐ]l*«§é¯]l…: yìl

2. JMýS {V>Ð]l$…ÌZ f¯é¿ê 90,000. C… §ýl$ÌZ
5/9 Ð]l…™èl$ çç³#Æý‡$çÙ$Ë$ M>V> Ñ$WÍ-¯]l ÐéÆý‡$
{ïÜ¢Ë$. ç³#Æý‡$çÙ$ÌZÏ ÑÐéíßæ™èl$Ë$ 40 Ô>™èl…
I™ól {ïÜ¢ËÌZ ÑÐéíßæ™èl$Ë$ G…™èl Ô>™èl…?
G) 40 ¼) 45
íÜ) 50 yìl) 60

Sol: §ýl™é¢…Ô¶æ… {ç³M>Æý‡… {V>Ð]l$…ÌZ ç³#Æý‡$çÙ$Ë
f¯é¿ê = 5k A ]̄l$Mö…§é…. -ïÜ-̂Ë f¯é-¿ê-=
4k A ]̄l$-MýS$…§é…. {ïÜ¢ËÌZ x Ô>™èl…
ÑÐéíßæ™èl$Ë$ A ]̄l$MýS$…sôæ Aç³#µyýl$ 5kÌZ 40
Ô>™èl… = 4kÌZ x Ô>™èl…
⇒ x : 40 = 5k : 4k

∴çÜÐ]l*«§é¯]l…: íÜ
3. Ððl¬§ýlsìæ çÜ…QÅ MýS…sôæ Æð‡…yø çÜ…QÅ 40

Ô>™èl… GMýS$POÐðl™ól Æð‡…yø çÜ…QÅ MýS…sôæ Ððl¬§ýlsìæ
çÜ…QÅ G…™èl Ô>™èl… ™èlMýS$PÐ]l?
G) 40 ¼) 56
íÜ) 35   yìl) 28.57

Sol: §ýl™é¢…Ô¶æ… ]̄l$…_ x = 40

∴ çÜÐ]l*«§é¯]l…: yìl
4. 'A' i™èl… 'B' MýS…sôæ 20 Ô>™èl… GMýS$PÐ]l. 'B'

i™èl… 'C' MýS…sôæ 10 Ô>™èl… ™èlMýS$PÐ]l. 'A' i™èl…
’ 1080 I™ól 'C' i™èl… G…™èl?
G) ’ 900 ¼) ’ 1000
íÜ) ’ 1100 yìl) ’ 1200

Sol:'B' i™èl… ’ 100 I™ól 'A' i™èl… ’ 120
AÐ]l#™èl$…¨.
⇒ 'B' i™èl… 

AÌêVóS 'C' i™èl… ’ 100 I™ól B i™èl… ’ 90
AÐ]l#™èl$…¨.
⇒ 'C' i™èl…

= ’ 1000  
∴ çÜÐ]l*«§é¯]l…: ¼

5. ^èlMðSPÆý‡ «§ýlÆý‡¯]l$ 20 Ô>™èl… ™èlWY…^èlyýl… Ð]lËÏ JMýS
Ñ°Äñæ*VýS§éÆý‡$yýl$ ’ 80MìS C…™èlMýS$Ð]l¬…§ýl$
MýS…sôæ 4 MìSÌZË ^èlMðSPÆý‡ GMýS$PÐ]l Mö¯]l$VøË$
^ólÄ¶æ$VýSÍV>yýl$. I™ól Ð]l¬¯]l$-ç³-sìæ «§ýlÆý‡-ÌZ 1
MìSÌZ ^èlMðSPÆý‡ ÐðlË G…™èl?
G) ’4    ¼) ’4.5
íÜ) ’5 yìl) ’6

Sol: «§ýlÆý‡ ™èlVýSYyýl… Ð]lËÏ B§é I ]̄l Ý÷Ð]l¬Ã ’ 
80ÌZ 20 Ô>™èl… = = ’ 16

D ’ 16MìS 4 MìSÌZ-Ë è̂lMðSPÆý‡ Mö¯é²yýl$ M>ºsìæt
™èlWY…_ ]̄l ™èlÆ>Ó™èl 1 MìSÌZ è̂lMðSPÆý‡ «§ýlÆý‡ =
16/4 = ’ 4.
«§ýlÆý‡ 20 Ô>™èl… ™èlWY…¨ A…sôæ 80 Ô>™èl… → ’ 4

∴JMýS MìSÌZ è̂lMðSPÆý‡ Ð]l¬ ]̄l$ç³sìæ «§ýlÆý‡ = ’ 5.
∴ çÜÐ]l*«§é¯]l…: íÜ

6. JMýS ©Æý‡ƒ^èl™èl$Æý‡{çÜ… ´÷yýlÐ]l#¯]l$ 20 Ô>™èl…
ò³…^éÆý‡$. §é° OÐðlÔ>ËÅ…ÌZ Ð]l*Æý‡$µ
ÌôæMýS$…yé E…yéË…sôæ ÐðlyýlË$µ G…™èl Ô>™èl…
™èlWY…^éÍ?
G) 20  ¼) 22.5
íÜ) 10 yìl) 16.67 

Sol: §ýl™é¢…Ô¶æ…ÌZ OÐðlÔ>ËÅ… = ´÷yýlÐ]l# ×
ÐðlyýlË$µ. A…sôæ Æð‡…yýl$ Æ>Ô¶æ$Ë Ë»êª°²
íÜ¦Æý‡…V> E…^éÍ M>ºsìæt ´÷yýlÐ]l# 20 Ô>™èl…
(x Ô>™èl…) ò³ÇW¯]lç³š-yýl$ ÐðlyýlË$µ ]̄l$
™èlWY…^éÍÞ¯]l Ô>™èl…

∴ çÜÐ]l*«§é¯]l…: yìl
7. ^èlMðSPÆý‡ «§ýlÆý‡¯]l$ 80 Ô>™é°MìS ™èlWY…^éÆý‡$. I™ól

JMýS MýS$r$…º… ^èlMðSPÆý‡Oò³ ^ólçÜ$¢¯]l² QÆý‡$aÌZ
Ð]l*Æý‡$µ ÌôæMýS$…yé ^èlMðSPÆý‡ Ñ°Äñæ*V>°² G…™èl
Ô>™èl… ò³…^ö^èl$a?

Sol: QÆý‡$a = «§ýlÆý‡ × Ñ°Äñæ*VýS…
«§ýlÆý‡ÌZ° ™èlVýS$Y§ýlË Ô>™èl… =100&80 = 20 
⇒ Ñ°Äñæ*VýS…ÌZ°  ò³Æý‡$VýS$§ýlË Ô>™èl… = 

A…sôæ Ñ°Äñæ*V>°² 25 Ô>™èl… ò³…_ ]̄lç³µ-
sìæ-MîS QÆý‡$aÌZ GÌê…sìæ Ð]l*Æý‡*µ E…yýl§ýl$.

8. JMýS Ñ§éÅÇ¦ 12 {ç³Ô¶æ²Ë¯]l$ {ç³Ä¶æ$†²…_,
Ýë«¨…_ Ðér°²…sìæMîS ç³NÇ¢ Ð]l*Æý‡$PË$
´÷…§é-yýl$. A°² {ç³Ô¶æ²ËMýS* çÜÐ]l*¯]l
Ð]l*Æý‡$PË$ E…yìl, A™èlyìlMìS 60 Ô>™èl…
Ð]l*Æý‡$PË$ Ð]lõÜ¢, B ç³È„ýSÌZ° Ððl¬™èl¢… {ç³Ô¶æ²Ë
çÜ…QÅ G…™èl? 
G) 36 ¼) 30 íÜ) 25 yìl) 20

Sol:60 Ô>™èl… Ð]l*Æý‡$PË$ → 12 {ç³Ô¶æË$
I™ól 100 Ô>™èl… Ð]l*Æý‡$PË$ → ?
∴ Ððl¬™èl¢… {ç³Ô¶æ²Ë$

∴ çÜÐ]l*«§é¯]l…: yìl
9. 20ÌZ 10 Ô>™èl…, 10ÌZ 20 Ô>™èl… MýSÍí³™ól

§ól°MìS çÜÐ]l*¯]l… AÐ]l#™èl$…¨?
G) 20ÌZ 10 Ô>™èl… ¼) 10ÌZ 20 Ô>™èl…
íÜ)200ÌZ 1 Ô>™èl…  yìl)200ÌZ 2 Ô>™èl… 

Sol: ç³ÇÖÍõÜ¢ G,¼ Bç³Û̄ ]l$Ï çÜOÆð‡ ]̄lÑ M>Ð]l°
™ðlË$çÜ$¢…¨. AÌêVóS 20ÌZ 10 Ô>™èl…
=200ÌZ 1 Ô>™èl… M>ºsìæt c MýS*yé çÜOÆð‡ ]̄l
Bç³Û¯Œæ M>§ýl$. 
∴ çÜÐ]l*«§é¯]l… : yìl
(Ìôæ§é)  20ÌZ 10 Ô>™èl… + 10ÌZ 20 Ô>™èl…
= 2 + 2 = 4,
200ÌZ 1 Ô>™èl… = 2, 
200ÌZ 2 Ô>™èl… = 4
∴ çÜÐ]l*«§é¯]l… : yìl

10. JMýS ç³È„ýSÌZ {ç³† Ñ§éÅÈ¦ ¿o†MýSÔ>çÜˆ… Ìôæ§é
VýS×ìæ™èl… Ìôæ§é Æð‡…yýl* ¡çÜ$MýS$…sêyýl$. 65.8
Ô>™èl… ¿o†MýSÔ>çÜˆ… ¡çÜ$MýS$…sôæ 59.2 Ô>™èl…
VýS×ìæ™èl… ¡çÜ$MýS$¯é²Æý‡$. Ððl¬™èl¢… Ñ§éÅÆý‡$¦Ë
çÜ…QÅ 2000. I™ól G…™èl Ð]l$…¨ ¿o†MýS-
Ô>çÜˆ…, VýS×ìæ™èl… ¡çÜ$MýS$¯é²Æý‡$? 
G) 750 ¼) 700 
íÜ) 550 yìl) 500

Sol: Ððl¬™èl¢… Ô>™èl… 100 M>ºsìæt x = 65.8 +
59.2 – 100 = 25
A…sôæ 25 Ô>™èl… Ð]l$…¨ Æð‡…yýl$ çÜ»ñæjMýS$tË ]̄l*
¡çÜ$MýS$¯é²Æý‡$.
2000ÌZ 25 Ô>™èl…

∴ çÜÐ]l*«§é¯]l… : yìl
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